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QUESTION 1

What is frequency, phase, and time of day synchronization in mobile architecture?
A. is natively supported in IPv6

B. is a key requirement for the radio equipment

C. is not important

D. was only required for legacy

Correct Answer: B

QUESTION 2

Which two commands can you issue on an ASR920 router to view the status of a pseudowire? (Choose two.)
A. show pw all

B. show pw and xconnect

C. show pw all detail

D. show xconnect all detail

E. show xconnect all

Correct Answer: DE

QUESTION 3

Which two options configures an ASR920 router as a hybrid clock? (Choose two.)
A. ptp clock boundary domain 0

B. ptp clock boundary domain 0 hybrid

C. ptp clock ordinary domain 0 hybrid

D. ptp clock ordinary domain O

E. ptp clock

Correct Answer: BC

QUESTION 4

High availability at the transport network layer is provided through the combination of what three technologies? (Choose
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three.)

A. Alternate Route

B. Loop-Free Alternate Fast Reroute

C.BGP

D. HSRP

E. BFD

F. BGP Core and Edge Fast Reroute and Edge protection

Correct Answer: ABF

QUESTION 5

If a router receives routes from a route reflector, packets destined to the learned prefixes by default must go through
what path?

A. To the next BGP hop
B. To the BGP neighbor
C. The Route Reflextor
D. To the Next IGP hop

Correct Answer: A
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